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Qui z:  Ref l ect i on i n a Li ne 
 
I ndi cat e whet her  each st at ement  i s  t r ue or  f al se.  
 

1 

The i mage of  t he poi nt  
( 6, - 5)  under  a r ef l ect i on 
acr oss t he x- axi s i s ( -
6, - 5) .  

Tr ue �
Fal se � 

2 

The i mage of  t he poi nt  
( 8, 7)  under  a 
r ef l ect i on acr oss t he 
y- axi s i s ( - 8, 7) .  

Tr ue �
Fal se � 

3 

The i mage of  t he poi nt  ( -
2,  4)  under  a r ef l ect i on 
acr oss t he l i ne y = x i s 
( 4, - 2) .  

Tr ue �
Fal se � 

4 

The i mage of  t he poi nt  
( 4,  7)  under  a 
r ef l ect i on acr oss t he 
l i ne y = - x i s ( 4, - 7) .  

Tr ue �
Fal se � 

5 

The i mage of  t he poi nt  
( 1, - 7)  under  a r ef l ect i on 
acr oss t he x- axi s i s 
( 1, 7) .  

Tr ue �
Fal se � 

6 

The i mage of  t he poi nt  
( - 4, 9)  under  a 
r ef l ect i on acr oss t he 
y- axi s i s ( 4, - 9) .  

Tr ue �
Fal se � 

7 

The i mage of  t he poi nt  
( 8,  3)  under  a r ef l ect i on 
acr oss t he l i ne y = x i s 
( 3, 8) .  

Tr ue �
Fal se � 

8 

The i mage of  t he poi nt  
( - 9,  - 4)  under  a 
r ef l ect i on acr oss t he 
l i ne y  = - x i s  ( 4, 9) .  

Tr ue �
Fal se � 

9 

 

Tr i angl e i s  r ef l ect ed i n l i ne L.   
 
I f   a= 9 ;  a’ = 3x- 3 
 B= 22 ;  b’ = 3y+1 
 C= 5z+8 ;  c ’ = 33 
 
Fi nd x,  y  and z.  

x = 
 
y = 
 
z = 

10 

 

Thi s gr aph i l l ust r at es 
a r ef l ect i on over  t he 

y- axi s.  

Tr ue �
Fal se � 

 
 
 
 
 
 

Ci r c l e # Cor r ect  0 1 2 3 4 5 6 7 8 9 10 

Per cent age Scor e 0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100% 

 


